A AL

WeRk 2947 A 28 H

EE N
BHBEER B E R —

SRk 29 BEERKHA AT A X 2 ATHONT

SRR 29 AEFERKHA A A X o A THRO L B Ehe LE T,
WA DR 29 FEEBEOTOE | Z20TEHS T2 L,

W
1. FEfiB : ERk294E9 A 19 7 (k)
2. BF &
NESHE SR DR + &b EER) PRV Rk
2 R <201 HEE > 1ERAE<E B> 3 AR A< 405 HEs > LAERAE<E IR >
9:00~10:20 9:00~9:40 9:00~10:20 9:00~9:40
- JBIEIZOUWT (40 4y) - BIEIZOWT « BIEIZSWT (40 43) - BBz HOWT
- BRI OV T (30 49) E;\%%Jfé‘%ﬁ?'EH%CODT@O%) $?;\§§%f;\%f
CEIRFYS RN (10 49) | et oo oo e oo |+ 3377y -3 (10 43) | (RSS90 B e~ 02
BER P X[ 503 [ExAE | 312 —FE 3] 406 [ B[ 410
BT | 504 KEY | 407 [HFHE | 403
B | 401 [BEEP 3| 411
FMET 3| 408 [RyTE 3| 404
L AFERAE<E IR > 4 AR <405 2 > 4R <202 #Es >
10:40~11:20 10:40~12:00 10:40~12:00
- JBIEIZOWT - BIEIZOUW T (40 %)) - JBIEIZDOUNT (40 4%)
;s HE] v &= < BEEERIZ DT (30 43) « BRI U T (30 4)
FEE X 406 | TAE I | 410 TR H AT (10 2| e 8750 A N\
B~ T ao7 T < 40T IATYY 3/t A-2EONT(10 43)| « T)AT Y ave -2 (10 43)
Bk 3408 [fEET 2] 309
/NET 2| 409 | [LEE 2 | 310
3AERAE <201 #HE > 2 FEIR A < 405 HEs > 2 R <305 HEs >
12:30~13:50 12:30~13:50 12:30~13:50

- BEIZ W T (40 4Y)
< BERRIZ U T (30 4)
« IJAT /Y3t R-EENT (10 47)

4 B A <201 = >
14:10~15:30

- JBIEIZ 2T (40 47)

- BRI 2V T (30 4))

« IJAT /Y27 F RN (10 43)

- BIEIZOUWT (40 4y)
< BERRIZ DUV T (30 %))
« IJATVY avE Y h-EENT(10 4Y)

- BIEIZ OV T (40 4Y)
- BRI U T (30 4)
< IJAT /Y 3vE VA -EoNT (10 43)

1 HERE<E IRI>
14:10~14:50
c JBEIZOWT
Y3 |#H=E
FREP 3 | 401
WHEY | 406
JBEEY 2 | 407
ERPI[408
P 3 | 409
=P I]410

£
TS
HEP <
AT S
HEE
NP R
Pe s

=
411
412
309
310
311
312

3 AR A <202 #hes >
14:10~15:30

- JBIEIZ DWW T (40 47)

- BERRIZ DV T (30 47)

< IJATVY 2/ F =0T (10 43)

12:00~12:20 (302 #=)

LA (5~8 FEIRAR) R R IR B Gk

Uk




